Homework 8 solutions

Exercise 1

(b). Let
$$\hat{o} = \frac{\hat{x}}{\hat{x}}$$
 $\hat{s} \sim (\frac{n-1}{2}, \frac{2n^2}{n-1})$
 $= \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) = \frac{1}{2n^2} \left(\frac{n-1}{2} - 1 \right) \left(\frac{n-$

$$\begin{aligned} w_{AR} \left(\hat{o}^{\chi} \right) &= \left(\frac{n-3}{n-1} \right)^{n} \left\{ E \left(\frac{\chi}{2} \right)^{n} - \left(\frac{E}{2} \frac{\chi}{2} \right)^{2} \right\} \\ &= \left(\frac{n-3}{n-1} \right)^{n} \left\{ E \chi^{2} \cdot E \left(\frac{3}{2} \right)^{n} - \left(\frac{k}{n-1} \frac{\chi}{2} \right)^{2} \right\} \\ &= \left(\frac{n-3}{n-1} \right)^{n} \left\{ \left(\frac{3}{n} + \frac{1}{k} \right)^{n} + \left(\frac{n-3}{2} \right)^{n-1} \left(\frac{2\sigma^{2}}{n-1} \right)^{n-1} - \frac{k^{2} (n-1)^{2}}{\sigma^{4} (n-2)^{2}} \right\} \end{aligned}$$

Exercise 2

$$EX = E f_{\Sigma}X_{i} = f_{i} n_{0} = 0$$

$$E2Y = f_{i} \Sigma EY_{i} = f_{i} \Sigma (EX)(EU_{i}) = f_{i} n_{0} f_{i}^{2} = 0$$

$$E2Y = f_{i} \Sigma EY_{i} = f_{i} \Sigma (EX)(EU_{i}) = f_{i} n_{0} f_{i}^{2} = 0$$

$$F_{i} \Sigma F_{i} + ARE \quad \text{WRIASED}.$$

$$VAR(2Y) = 4 VAR\left(\frac{EY}{EY}\right) = \frac{4}{n^2} E\left(\frac{EY}{EY}\right)^2 = \frac{4}{3}$$

$$VOTE: EY' = EX'_2U'_2 = (H^2)(\frac{1}{12} + \frac{1}{2}) = \frac{1+0^2}{3}$$

$$EY'_1 = EY_1U'_1 = (EY)(EU'_1) = \frac{4}{3}$$

$$* = \frac{4}{n} \left(\frac{1+\theta^2 - \theta^2}{3} \right) = \frac{4+\theta}{3h}$$

PLATIVE FAMILIENCY OF 24 WITH RESPECT TO XIII.

Exercise 3

FIND C SUCH THAT
$$E \hat{O} = 0$$
.

$$E \hat{O} = \frac{C}{\eta} \sum E(\chi_{1}^{2})^{L} \qquad \text{ANULTIPLY AND DIVIDE}$$

$$E \hat{O} = \frac{C}{\eta} \sum E(\Gamma_{G,1}^{2})^{L} \qquad \text{TO GET} \qquad \chi_{1}^{2} \sim \chi_{1}^{2}$$

$$= \frac{C}{\eta} \sum E(\Gamma_{G,1}^{2})^{L} = \frac{C}{\eta} \sum (\frac{1}{\eta})^{L} \qquad \text{OR} \qquad \Gamma(\frac{1}{\eta}, \frac{1}{\eta})^{L}$$

$$= \frac{C}{\eta} \sum \frac{C}{\eta} \sum (\frac{1}{\eta})^{L} = \frac{C}{\eta} \sum (\frac{1}{\eta})^{L} \sum (\frac{1}{\eta})^{L} \qquad \text{THEREFORE} \qquad C = \sqrt{\frac{1}{\eta}} \sum (\frac{1}{\eta})^{L}$$

$$= \frac{C}{\eta} \sum \frac{C}{\eta} \sum (\frac{1}{\eta})^{L} = \frac{C}{\eta} \sum (\frac{1}{\eta})^{L} \sum (\frac{1}{\eta})^{L} = \frac{C}{\eta} \sum (\frac{1}{\eta})^{L} \sum (\frac{1}{\eta})^{L} = \frac{C}{\eta} \sum (\frac{1}{\eta})^$$

Exercise 4 XIIII me and (1x) (a) Y,,-, Yn L'id exp (Ly) $M_{\chi_i}(t) = (1 - \frac{t}{\lambda x})^{-1}$ $M_{\chi_i}(t) = (1 - \frac{t}{\lambda y})^{-1}$ $\Sigma X_i \sim \Gamma(n, \frac{1}{4x})$ $\Sigma Y_i \sim \Gamma(n, \frac{1}{4x})$ Let $\hat{\theta} = \frac{27i}{54i}$ Fim $\hat{E}\hat{\theta}$: EÔ = (E SYI) · (E (SXI)) $=\frac{n}{\lambda_{Y}}\cdot\frac{\Gamma(m-1)\left(\frac{1}{\lambda_{X}}\right)^{2}}{\Gamma(m)}=\frac{\lambda_{X}}{\lambda_{Y}}\cdot\frac{n}{m-1}$ THRREFORE UMBIASED HETIMATOR OF LY

15. $\theta_{i} = \frac{m-1}{N} \frac{\sum_{i=1}^{N} i}{\sum_{i=1}^{N} i}$

WE WANT TO MIMAIZE

MSE =
$$E[S-\frac{\lambda x}{\lambda y}] = E[w \underbrace{\Sigma Y_1}_{Ay}] = X$$

NOTE: $C[Y] = w \underbrace{\Sigma Y_1}_{S A_1}$ where $w = CM$

WE NOTE: $C[Y] = w \underbrace{\Sigma Y_1}_{S A_1}$ where $w = CM$

WE NOTE: $C[Y] = w \underbrace{\Sigma Y_1}_{S A_1}$ where $w = CM$
 $E[\Sigma Y_1] = v \underbrace{\Sigma Y_1}_{S A_1} = \underbrace{\Sigma Y_1}_{A_1} =$

$$\frac{\text{EXERCISE 5}}{P(X_1=X_1, -..., X_N=X_N)} = \frac{P(X_1=X_1,, X_N=X_N)}{P(U=u)} = *$$

SINCE U= SXi 17 FOLLOWS THAT U-POISSON (MJ)

$$Y = \frac{\frac{x_1 e^{\lambda}}{x_1!} - \frac{x_2 e^{\lambda}}{x_1!}}{\frac{x_1!}{x_2!}} = \frac{x_1!}{x_1! - x_1!} \frac{x_2 e^{\lambda}}{x_2!} = \frac{x_1!}{x_2!} \frac{x_2 e^{\lambda}}{x_2!}$$

$$= \frac{n!}{\chi_{i}! - \chi_{i}!} \frac{1}{n^{\sum r_{i}}}$$
(BECAUSE $u = \sum \chi_{i}$),

WE SEE THAT THS EXPRESSION IS FREE OF THE PARAMETER & THEREFORE U = EXI 15 A SUFFICIENT STATISTIC FOR J.

Exacuse 6

$$f(x) = \frac{2x}{9}e^{-\frac{x^{2}}{3}}, x>0$$

$$L = \frac{2x}{9}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}}$$

$$L = \frac{2x}{9}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}}$$

$$L = \frac{2x}{9}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}}$$

$$L = \frac{2x}{9}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}}$$

$$L = \frac{2x}{9}e^{-\frac{x^{2}}{3}} + \frac{2x}{2}e^{-\frac{x^{2}}{3}} + \frac{2$$

$$L = q(u,0) \cdot h(x) = \frac{1}{6} \sum_{x} x^{2}$$
where $q(u,0) = \frac{e}{0}$

AND $h(x) = \frac{h}{2} TT x^{2}$